Lab #2  Predicions and Wavmops
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From Lab 2, Problem 2 Warmup “The Compound Microscope” (modified from Tutorials in Introductory
Physics, McDermott et al, Pearson)

1. The diagram below shows an arrangement of a small object and two thin convex lenses analogous to
that used in a typical compound microscope (though not to scale). On the diagram, construct rays
showing the image formed by lens 1, then use that image as the object for lens 3 and construct rays
showing the image formed by lens 3. (There is no lens 2 in this diagram.)
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2. Think of lens 1 as the objective lens and lens 3 as the eyepiece lens of a microscope. Does the eyepiece
lens form an image that could be projected on a screen? If so, where should the screen be placed? If
not, is it possible to adjust (reposition) lens 3 so that its image could be projected on a screen?
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3. The diagram below shows another possible arrangement of a small object and two thin convex lenses.
On the diagram, construct rays showing the image formed by lens 1, then use that image as the object
for lens 2 and construct rays showing the image formed by lens 2.
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4. Think of lens 1 as the objective lens and lens 2 as the eyepiece lens of a microscope. Does the eyepiece
lens form an image that could be projected on a screen? If so, where should the screen be placed? If
not, is it possible to adjust (reposition) lens 2 so that its image could be projected on a screen?
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